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Notes:
Use the Law of Si(e_s‘gr oblique triangles, given AAS, ASA, and SSA. Remember
that SSA is the ambiguous case, where the answer could be 0 triangle, 1 triangle, or
2 triangles. |
Use the Law of Cosines for oblique triangles, given SAS or SSS
o SAS: 1) Find the missing side.
2) Find the smallest angle (if not given).
3) Find the other angle using geometry.

o SSS: 1) Find the largest angle
2) Use the Law of Sines to find any of the other 2 angles.

3) Find the third angle using geometry.
AREA OF TRIANGLES USING TRIGONOMETRY:
If at least one angle is known: Area = 2 (side){side)(sin of included angle).

If you are given SAS, then just plug in the numbers. If you are glven AAS, or SSA,
use LS to “force” SAS. |

if you are given SSS, then use Heron’s Formula:
Area = \/s(s — a)(s —b)(s —¢)
where s is the semiperimeter, and a, b, ¢, are the sides of the trlangle
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SHOW ALL WORK ON A SEPARATE SHEET OF PAPER. DO NOT OMIT ANY STEP.
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In problems 1-4, given obllque trlangle ABC, finda SIde {to the nearest tenth) or an angle (to the
nearest degree). Draw each trlangle aﬂd deﬁermme if it is AAS, ASA, SSA, SAS, or SSS. Write it
on the line. -

A= wl= 4}" a=20. Find sidec.:
| . AAS,ASA,SSA,SAS,SSS
=08, b o= 7. Find <A. 855 g -
: AAS,ASASSASASSSS 1. o I vw  GF ) 7
<C=15°a=30,<B=73°.Find sidec. | 154 §ﬂ' : B i S /»""W/ -
ARS,ASASSASAS,5SS iy gy 2m _;:7%—5 : GP ( ‘I‘/S b\v
=6,b= 7<A 65°F = SIS T iSO - P,
=lal=ic

In problems 5-8, solve triangle ABC. If no trsanale exist, explain in detail. Round sides to the

nearest tenth and angles to the nearest degree. Draw each triangle and determine if it is AAS,

ASA, SSA SAS or SSS. Write it on the lsne
=5 b= =17 :

AAS‘ASA,SSA,SA&SSS
<B=110°,a=10,c =16 S . | ‘ =
) AAS,‘.'\SA,SSA.SAS.SSS . )

2=26, b= 30, <A = 52° S

AAS ASASSASAS,S58

<A=46°,2=86,c=65 . SSH]

T T} oo o8
AAS ASA SSA SAS.SS88



II. In problems 9 and 10, find the area of the triangle. Round the answer to the nearest unit.
9y =367 a=~58 beTHt

10) a=7m,b=9m,c=12m
IV.  IV: Word Problems

11) Two trucks leave a city at the same time and travel along straight highways that differ in direction by 75°.
One truck averages 80 miles per hour and the other averages 70 miles per hour.

a) How far apart will the trucks be after 30 minutes? Round to the nearest tenth of a mile.

b) How far apart will the trucks be after 3 hours? Round to the nearest tenth of a mile.

12) The Leaning Tower of Pisa leans at an angle of about 85°. 180ft from the base of the tower, the angle of

elevation to the top is 65°. Find the distance to the nearest tenth of a foot, from the base to the top of the
tower.

13) A surveyor needs to determine the distance between two points that lie dn opposite banks of a river. 500
yards are measured along one bank. The angles from each end of this line segment (AB) to a point on the

opposite bank (C) are 70° from point A and 47° from point B. Find the distance between point B and C
to the nearest tenth of a yard. :

14) Use the figure to find the distance across the lake from A to C, to the nearest yard. AB= 150 yds,
BC =175 yds, and m<B =85°

(5,%), | b= 175 “F 150 -—&/f?s*)(is@)@as 8?0

1

15) Use the same dramng above (problem 14). If AB= 11 miles, BC =13 mlles and AC = 19 miles, what
is the measure of <A?

16) A plane leaves airport A and travels 600 miles to airport B on a bearing of N45°E. The plane later

leaves airport B and travels to airport C 450 miles on a beanng of S85°E. Find the distance from airport
A to airport C to the nearest tenth,
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